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1. Answer any five questions: 1x5=5

@ I A5G 2 Ted WS ¢

(a) What do you mean by metachronous rhythm?

Metachronous rhythm J&Cs 1 (I ?

(b) Distinguish between Prosopyle and Apopyle.
Prosopyle '€ Apopyle-a3 Sty #iief Srard |

(c) What do you understand by monogenetic and digenetic parasites?

Monogenetic @ digenetic TG IS F QIR 2

(d) Define Torsion.
Torsion-4q HLER! WIS |

(e) Justify the name ‘Hemichordata’.

Hemichordata MGE les @ |

(f) What is Endostyle?
Endostyle 2

(g) Write the names of any two hormones responsible for metamorphosis in Toad.

I e HATSCEHA G 7 96 ZJCNER A1 @l |

(h) Mention the names of fifth(5th) and tenth(10th) cranial nerves of Cavia sp.
Cavia sp.-93 21%% @ W IS FFI N G|
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2. Answer any two questions: 5%2=10

@ (@) HIFG 2teE Ted wie ¢
(a) Describe the structure of Septal nephridia of Earthworm with appropriate figure.
&oIa Septal nephridia-43 519w ez a9 Tl |
(b) Define Ommatidium. Write the functions of corpora cardiaca, corpora allata and prothoracic
gland in case of metamorphosis of insects. 2+43=5
Ommatidium-45 k€& w8 | 2o AASCId (Fd corpora cardiaca, corpora allata @
prothoracic gland-4s <& (STCAT |

(c) What is Lantern of Aristotle? Diagrammatically represent the course of water current in

the water vascular system in starfish and discuss it. 142+42=5

RPEEER T F1? T AR IR TEPRIZER oifosiel SIEnbel ! |

(d) Write about the osmoregulation process in marine teleosts.

Marine teleost @A CFCg Osmoregulation &l T |

3. Answer any one question. 10x1=10

& @ @0 AT T WS ¢

(a) Classify phylum cnidaria upto classes (according to Rupert and Barnes, 1994) with characteristic

features and give example of each class. What is polymorphism? 8+2=10

7 Cnidaria-93 et o1&y @fd femsr et | Soge @fierr Tuizad wie et @idg
(54| polymorphism Jhe

(b) Describe in brief the biting mechanism of snake. Write down four major features of volant

adaptations in birds. 6+4=10
TRCHA Aofiesle] siafod [Fael e | Afe Twaw Sfer@ieEa 5 4 @8 @l |



